Question 11: In 2006, what percent of this gross annual farm income came from the sale of organic products?

Sigh.  You’re going to get tired of hearing this, but the data for this question show a non-normal distribution. It’s heavily weighted toward 100% of farm income from sale of organic products.

Here’s the frequency distribution:

0 – 10 % of income:  6.0% of respondents

10-20% of income:    6.5% of respondents

20-30% of income:    4.0% of respondents

30-40% of income:    5.0% of respondents

40-50% of income:    1.0% of respondents

50-60% of income:    8.5% of respondents

60-70% of income:    3.5% of respondents

70-80% of income:    5.0% of respondents

80-90% of income:    6.5% of respondents

90-100% of income:  54.2 % of respondents

The median is 90% of income from organic sales.
The mean is 72% of income from organic sales.

The standard deviation (square root of the variance) is 34.   Note: This is the SD for % of income, not for % of respondents.
So, those with 100% of their income from organic sales are still within one standard deviation of the mean.  Generally, “within one standard deviation” means “not unusual.”  But, since this data doesn’t follow the normal curve, the standard deviation doesn’t mean much.
Histogram with normal curve superimposed:
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I think you could show this histogram along with the one for Question 10 to give a nice visual presentation of the results: the total farm income curves down sharply from the left, and the percent of farm income from organic sales curves down sharply from the right.  

Calculation of SD for frequency data on % of respondents for each income category:

Mean = random chance figure = 10%  (each of the 10 income categories should, in a random situation, represent 10% of the respondents).

SD = 16%

So, 54% of respondents saying they have 100% of their income from organic is clearly significant at more than +2 standard deviations more than the mean of 10%.

But the SD quite a bit greater than the mean does indicate skewed data.

